1. 182E 1007k 9] 2 Foll A 59] visE o 1 79] i opd
R FEEET e

SEE d



2. 5672000 ©] Qo] Aele] 545 Totofel,



3.  ARIFESE o8ste] 50 o oFg-9] fpE ot gt o
a,b,c o o4 g2

5 At 2 vt A7

50 =20 x50 O g (a+1)x (b+1) =c (7h)

® 1,2,3 @ 1,2,6 ® 2,4,8 @ 2,5,8 ® 3,4,5

ol



Al 4251 2415 AR s, 4] w40l At 5 9] 47} o
Z20] 7|4} 3.0] WjS0l A 5, 6] M4 obd 49] 0] e

Fotofet.

5 L
=%



68 2 olH F A2 AL CB YA 57 E, 109 E 0 07
e 4 7 etk A5 n 2 1 Beh & Z4A5 p & Lol "o
At p & BT Fstoiet

D L
=%



A4 x,y ol Histe x,y o HNFFFE xay , HEFTHGTE xady
2 Yeh 712 & o, aab = 6, bac = 14, andb = 630 , badc = 588
& WEshE Al A4 a,b, ¢ ol TSt anbac % andbade E 27
T-skoiet,

a EF: anbac=

Ld ©: andbade=



